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3) Write an equation and SOLVE for the following:

a) "7 more than a third of a number is 11"
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b) Double a number reduced by 3 is 19

Ay = u 3“7"{ ="

3 a“: aa
A =Yy
3 é\n'a:
oD o g3 2
3 ,\-_ll
\= |2

Mental Math
4) 35% of 80

2> [xsi

l’?;/o o F80= §3 3597% of

= Y+
30% of 80 = ‘l) = a8

May 07, 2019



gr 8 ub eq day 9 solv with dist prop NEW (Tied together day 8&9).notebook May 07, 2019

SAMDES
1) Solve a) 3x-11=52 v/ b) n +5 =-8
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3) Write an equation and SOLVE for the following:
a) "7 more than a third of a number is 11" ) _33— +1=1\

b) Double a number reduced by 3 is 19 N
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The answers are Lhe same
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-3(2x-7) -2( -5t + 8)
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Solving Equations that
Involve the Distributive Property

The Distributive property may also appear in solving equations.
When it does, first you have to apply the distributive property, then solve as you

normally would. :H: oursid W Vou mu.\"'\p\j

Solve the following: %m‘:;‘“ :;\ lnS\d-'. bmh.-l- - They

@ M-8 (b)Q’ 5) =9

X +9 = 1% -5 =9

2x+y8’=. \8-% 3&"% = Gx1s
Lx
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Solving Equations that
Involve the Distributive Property

The Distributive property may also appear in solving equations.
When it does, first you have to apply the distributive property, then solve as you
normally would.

Solve the following:

(a) 2 (x+4)=18 (b)3(x-5) =9

o 2 =19
NT3 =
2438 -2 = 13 -9

2y =10

AX _ 1O

2 2 LS Rs
A=5 2 (4 +4) 13

witel)
2x9
13

3(x-9 -9=9
3y H-18) ¢
=9 o 3x+t-34-q)

_ ” LS s
*- 3x--9 9
3U1-5) -9

3I%6 -9

\@ —9
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Word Proble\‘r(n e ond 2 Liends
Ex) qﬁ?em

I have 4 friends. We each have a package of cookies and we each have
2 cookies that are not in the package. If we have 50 cookies in total,

how many cookies are in each package? k¥ % Cex€ eSend
— 00 %X+ & P of cookies
—300 in The ot

—o3

=0 S A~

=309 5 (x+2) =50

S5 + 10 =5d
— Sx +Jo70= 50T
\ th( 14 § cookicy Ex = Yo
'\t\(ﬁd\.?&dﬂa- .
7 .0
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Word Problem

Ex)

I have 4 friends. We each have a package of cookies and we each have
2 cookies that are not in the package. If we have 50 cookies in total,
how many cookies are in each package?

et C cepresent hint : How many people?

+he Qabka”..
5@ +2) = 50

5L+IO = 5o

<"""n l\-‘-
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4) Bil's  Mom pays Bl ‘o.as
‘r'or eah Sock he folds . Dud gove hm

90 for bewy a gueat Ssem. TE she gaw
him $35.50 ) then howmony Sedes d:id he
£o\d? (Show work)
Wek o e a’“’" sock B\ folded.

et N represent ¢

0.29n +20 = 25 .90

0.2%n + ~%° = 25.50 -20

0O2L9n = Q.50
0.25% 0-2S
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Word Problem

EX)

I have 4 friends. We each have a package of cookies and we each have
2 cookies that are not in the package. If we have 50 cookies in total,
how many cookies are in each package?

b = the number of cookies in one package
b + 2 = the number of cookies each person has

5(b+2)=50
5b+10=150
5b+10-10=50-10
5b =40 LS Q_S
Y S(btd) $0

bos s1g4132)
=

/0
Each package has 8 cookies. SD
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pg. 342 #gpeg 13a,b, §EP

?%3:;:“ a be \“
Homework pg. 347 # 4- #5ake
Test PART 1 outline o~
5 MC

6 Short Response

#1 Draw tiles and solve an equation

#2 Use Algebra tiles or box method to prove distributive
property

#3 For each problem, state the variable, write and solve the
equation, verify and give a statement. (Like warm up on
Friday)

#4 Solve  Ex) 2(x-3)=16

#5 For each of the following tell whether the pair of
expressions is equivalent or not.

#6 (Is it correct if yes then verify if no then redo)
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pg. 342 #7-16, 18,19 Reflect
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10. Kb=bh
bhven wou W\l,..l-):'le'/g oder daes nst modler

X 3=3x2

kxb:.b“’)

L a(6—4)
= S"} "q'k
Sach 15 (@)

2. & —blctt) Y —8(-5) (~2(-S)
I
c) 10 (§-7) d) 3(-3-g)

10y =76
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~ b4+ 3’5 - bt 94
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3. 3 2x#20  ond 2(x$20)
net QGLui\loJen{:
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= AR +40
'T’\fA dida't W\u“:'\'p,& the Q0 L’&‘Q-

N 3y+7 and 10y
ok Qtto:\vulent Co\:B 36331

WX <quals /0L buk qow
don't add the R and Ehe? n
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Q) 612t and Q(£+2)
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Mgy 207+ bt ) B N (76 +e—5)
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